# |:| F # D F REV| DATE DESCRIPTION
MODELS [24 GA SHORT| 27 GA SHORT |27 GA FLUSH| 27 GA LONG | DOOR HEIGHT | (errhic | sTeuTs 05| 6/2005 | UPDATED CODE_REF.
0P 70 70 7 3 06]9/2005 ADDED ROLLER OPTION
CLOPAY 4400, 4401 4300, HDG 4301, HDGF | 4310, HDGL =3 10 607 5 3 SNAP LATCH ENGAGES 07[11/30/07 | ADDED EXTENDED HEIGHTS AND COMBINED HOLMES AND CLOPAY M/N
83" TO0 897 5 2 Ogm_: gﬂcﬁ%ﬁ/\%ﬁ 08[5/12/07 | ADDED MPC INFO AND HDGF, 66G, 67G
HOLMES —— 66, 66G, 6200 68, 6201 |67, 67G, 620 907 TO 106" 3 r EACH SIDE OF DOOR. 09] 02/07/11 | UPDATED MODEL NUMBERS.
10’S” 1O 123" 7 S
SLIDE BOLT n
IDEAL - SP200 SF200 SE200 12’6” TO 14'0” 8 6 END LOCK ENGAGES 2" THICK
14’3 TO 15'9* 9 7 STILE INTO VERTICAL SILICONE FILLED CHANNEL SEPARATES
13;0): - HlEOIGHT - 8 . [g/(\:(I:(K.oﬁNE FRONT AND BACK SKIN OF DDOR
1 21’ OUTSIDE KEYED EACH SIDE
OPTIONAL WINDOW LITE DSB GLASS OR 1/8” HANDLE STILE OF DOOR. 1.95" THICK, 1# DENSITY
ACRYLIC AVAILABLE. OPTIONAL ARCYLIC GLAZING EXPANDED POLYSTYRENE
A
IS PLASKOLITE OPTIX OR LUCITE CP APPROVED _  —— INSIDE_HANDLE INSIDE SLIDE BOLT FOAM INSULATION LAMINATED
CC2 PLASTIC IN ACCORDANCE WITH IBC/FBC % FR—— T —— R — R 5 E LOCK_OPTION Tr?TE%?gE nghll-:SRIOR AND
| gl - - - .
. 2606 (SEE SECTION B-B) A :PI— Ti: :PI— Ti: m_ Ti: :PIT Ti: WQBDEKEIEDQQK
| S e e I 12 GA. GALV. STEEL TOP
L C L I 1] I
7 # # SEE END ROLLER BRACKET. EACH
: 7 :H 7 : : 7 : : ¢ 7 : HINGE DETAIL [ —— T Y——— Vp======  IRT——— 1l VERTICAL JAMB ATTACHMENT (C—90 BLOCK ] BRACKET ATTACHED W/(4)
ple—a g s [P U— | = Jj : P L, NP Lt I . — #14x5/8" SHEET METAL
e 2 I # #Z | # | Z || 3/8"X4” SLEEVE ANCHORS ON 24" CENTERS SCREWS.
. Mo S [l ettt i | peplepdepdepdepders 3 [ gttty | - === I === IN === | === ] (BOTH C—90 BLOCK OR 2000 PSI MIN. TONGUE AND GROOVE JOINTS.
o === =TT 1= SEE INTERMED. I % A % CONCRETE) OR 1/4"X4” TAPCON SCREWS
4 A HEH I ] HINGE DETAIL — ON 24" CENTERS (2000 PSI MIN.
°g U ] - 5 CONCRETE). WASHERS INCLUDED WITH
1S ] SLEEVE ANCHORS. 1" 0.D. WASHERS
=8 T A REQUIRED WITH TAPCONS. ANCHORS MAY
Sz [ Tl T T e x = BE COUNTERSUNK (BUT NOT REQUIRED) TO
FEARED e R i R i Y | S = PROVIDE A FLUSH MOUNTING SURFACE.
5 o IIJI- ill i I IIJI- m IIJI- %III : I I EggZONTAL JAMBS DO NOT TRANSFER
4 L ————- L ———— L ———— - > ) )
§2 i i AL ______ i ! ITh‘lNT% FT’%{“cTK LOCKING E = H TWO POINT LOCKING VERTICAL JAMB ATTACHMENT (WOOD FRAME BUILDINGS): 2-1/4" TALL x 20 GA. GALV. STEEL U—BAR.
BM i —____JN ______ - = INTO TRACK 1/2"x3" LAG SCREWS ON 24" CENTERS. 1° 0.D. WASHER U—BAR QTY AS SHOWN IN TABLE. ATTACHED
2| | IF====] === | F====m] === REQUIRED. LAG SCREWS MAY BE COUNTERSUNK (BUT NOT WITH (2) 1/4"x3/4" SELF TAPPING SCREWS
III III III Il III III 1h II REQUIRED) TO PROVIDE A FLUSH MOUNTING SURFACE. AT EACH HINGE LOCATION.
L e () e T e ! c HORIZONTAL JAMBS DO NOT TRANSFER LOAD. —
OPTIONAL OUTSIDE KEYED L A | OPTIONAL OUTSIDE KEYED 2= END SECTION A-A
LOCK POSITION ~SHORT PANEL SHOWN LOCK POSITION STILE /
|————— MAX. DOOR WIDTH = 90" ————————| l—— MAX. DOOR WIDTH = 9'—0" 27 GA. MIN. STEEL EXTERIOR SKIN WITH
INSIDE_EL EVATION G—40 GALVANIZING, BAKED—ON PRIMER
(HSIDE_ELEVATION SHORT PANEL SHOWN oUTSDE AND A BAKED—ON POLYESTER PAINTED TOP COAT. 27 GA. STEErIﬂ zImEERIE(;TK ESDK":) NwrPn}-?IIMER
G—60 GALVA , —
AND A BAKED—ON POLYESTER PAINTED TOP COAT.
FRONT FRAME WITH U.V. HANDLE
COATING ON OUTSIDE SURFACE. 13 GA. GALV. STEEL BOTTOM BRACKET.
(4) #14x5/8” SHEET METAL SCREWS IE?I((:;KGEQRIN ATTACHED WITH (4) #14x5/8" SHEET METAL SCREWS.
I OUTSIDE KEYED LOCK " _ ' & VINYL 8
n S OCK_BAR LOCKING OF DOOR. SCALE 2" = 1
I STOP MOULDING BY DOOR
i I INSTALLER (TO SUIT)
(4) 1/4"x3/4" SELF TAPPING SCREWS 18 GA. GALV. STEEL END STILE
GLAZING /_(END STILES HELD BY HINGE SCREWS)
2x6 YELLOW PINE JAMB | } |
(NOTE: 14 GA. INTERMEDIATE MOLDED INSIDE SECTION B—B #8x1—-1/4" PAN THIS DOOR MEETS OR EXCEEDS THE DESIGN
HINGES ON 24 GA. EXTERIOR LITE RETAINER. HEAD SCREW. 12 GA. GALV. STEEL TRACK
SKIN DOOR MODELS.) OPTIONAL 10 SCREW WINDOW LITE (10 SCREWS PER LITE) LERACKET FASTENED 10 WooD kgé%%Dmg '}-gETI-\:vI-:INELS}%EE\D%LI[_)ISTE(?O[E);ELOW
<l —
HORIZONTAL TRACK SUPPORT BY WOOD LAG SCREW PER BRACKET. 18 GA. MIN. GALV. STEEL CENTER HINGE | OR IBC (ASCE7) FOR THE FOLLOWING
DOOR INSTALLER (TO SUIT) HORIZONTAL TRACK SUPPORT BY . FASTENED TO INSIDE SKIN W/(4) CONDITIONS: 1)” ENCLOSED BUILDING, 2) DOOR
2 GALV. STEEL TRACK EACH #14x5/8" SHEET METAL SCREWS.
, DOOR INSTALLER (TO SUIT) FASTENED TO TRACK BRACKETS. HAS 2’ OF WIDTH IN BUILDING'S END ZONE,
, EACH
8 TALL DOORS AND UNDER DOORS OVER 8’ TALL BRACKET ATTACHED WITH ONE 14 GA. GALV. STEEL ROLLER HINGE 3) IMPORTANCE FACTOR OF 1.0, 4) ANY
5 : : z z : 1/4"x5/8” BOLT & NUT OR FASTENED. ;%EEE?DM%TLLLESS&/E% EACH ROOF SLOPE, AND 5) 50% SAFETY’ FACTOR.
— o /4 RVETS 2" 10 Bf\LLxZﬁORT STEM STEEL ROLLER WITH STEEL OR WIND_SPEED (MPH)| <100 | 110 | 110] 120
13 GA. GALV. STEEL FLAG BRACKET. 13 GA. GALV. STEEL FLAG BRACKET. JAMB CONFIGURATION NYLON TIRE EXPOSURE LEVEL B or C B C B
EACH FASTENED TO WOOD JAMB WITH EACH FAS,',I'ENED T9 WOOD JAMB WITH SECTION C—C MEAN ROOF HEIGHT| 30’ 30’ 24 30"
(3) 5/16"x1-5/8" WOOD LAG SCREW.. (3) 5/16"x1-5/8" LAG SCREWS.
NOTE: DOUBLE TRACK LOW LHR TOP BRACKET
JRACK CONFIGURATION HEADROOM AVAILABLE.
- = 30¢ TRACK CONFIGURATION 3" TRACK AVAILABLE DOUBLE HORIZONTAL
& NOTE: DOUBLE TRACK 2 MAX AS NEEDED. TRACK
[r] LOW HEADROOM IS T
z H: AVAILABLE AS AN OPTION o 2" GALV. STEEL TRACK THE OPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE
8 [ Q -— TRACK -|:H|CKNESS‘ 066" MIN WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE
a 2" GALV. STEEL TRACK 8 /_ s : DOOR | ... DOUBLE TRACK OR INTERNATIONAL BUILDING CODE BUT DOES NOT MEET THE
1] TRACK THICKNESS: .060” » HeIGHT| - LOW WTION IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS
L I 24 TYP. 2—1/2"x12 GA. GALV. STEEL TRACK BRACKET. 6" | 947 LW DEAURVUM VPN REGIONS (REF. CHAPTER16 FBC/IBC)
z — TYP> 5 TRACK BRACKETS PER SIDE EUP TO 10° chHg " | 1007 |
o P 5 o _— TRACK BRACKETS PER SIDE (UP TO 12’ HIGH ml 4 ‘112’ WESTERFIELD, P.E
H | 1 Hd DISTANCE BETWEEN FLAG AND TOP TRACK BRACKET i - DESIGN ENGINEER: MARK , P.E.
2 B[~ TYP. 2-1/2"x12 GA. GALV. STEEL TRACK BRACKET. 5, Ea NOT TO EXCEED 30” O.C. emEr FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513
g (4) TRACK BRACKET PER SIDE. DISTANCE BETWEEN ) L e 130 NOTE: TI-II-:E TElESIggs ggN;réEu%JPgl?R'lTl-li'éGnglégglljgnhEI5|EMENTS
. 5 . SHALL B : -
S TRACK BRACKETS NOT TO EXCEED 30" O.C. (FACTORY ATTACHED) % (TEY4P) 1207 | 1367 RECORD FOR THE BUILDING OR STRUCTURE AND IN ACCORDANCE ?Eg%&gé?iﬁ%%g ,.-S F& ai43259 SSPFS o
ag%f_ﬁ " v 12e ez WITH CURRENT BUILDING CODES FOR THE LOADS LISTED ON THIS DRAWING.
w 3
x [6—6" [ 70" . (@] 3'6* | 154 MANUFACTURING PRODUCT CODE] WINDLOAD RATING | MAXIMUM DOOR SIZE:
o T-0" [ 76" NOTE: TRACK CONFIGURATION u; . w0 | 160" | - CLOPAY BUILDING PRODUCTS COMPANY| MPC: DSIE-1F171 W4 9'0"W X 16°0"H
; e ABOVE THE DOOR OPENING . 3-1/2 ve iee” 0 ay 8585 DUKE BLVD. W 12/06 W
1 Ll 8'—0" | 88" DOES NOT AFFECT THE WIND 1 g 150" | 172" MASON, OH 45040 . _
TV, LOAD RATING OF THIS DOOR { 56" [ 1787 DRAWN BY: M/N 4300/4400: +28/—29 PSF
s T 77 1L [ 16'0" | 184° Bmldlng Products (513) 770 — 4800 e “MWW DRAWING NUMBER:
Company 101652




